


qfeSnsc^. (1)

9ii<ftcOi g&ai&uiiKMoii wdidueiici m&c*

ftoifflcra

f^.: / /2008

HI.

WlMtrata,

<rl l Cl KI.

^ in i,

:-T*H.fte. *RlttR TRScHWEft «^c*>l«f

n$\m,

$Ml4l HTW (%8FRim)

M^cOchRdl 4t. ycbeMlT^ chl^cll^ =F$W 3T^T 3TFTFHT W#II$

31^1 SIRcHT ------------HK%TPt> / /

Tt#........................HT3RTT WT 3TT3^t feR^t 3*/®r H#?5 fen«lM

•MNufl / 3H4IMHMII ^THTHl^ %35 $1%$ it 3*m He5T q<<*H*fl

m4t i. 4 eft 3t/w fesnsff c#g wr H^flrcpEFft

SUMcM feWIKIj

4t. H?Ft <(4«bld <l*Klc|

'iMRl^feb

temm H#5T 3ITO HTWTCT.

.98..

m. mrr
•HIVAJi -...'.

'""■’UR LIBRAF1
a. uQLUAW



uftfdraiP. (2) 

Mqgfagfteii 3??m; ^fi%i3j4sr

^ 3ra»ipft sitarm *i$rt tawrai 

^ftonwiw#^T 4^ic^«b 3TRrra.’

: ?ft. 3TK. 3TR. ^mt, JTPfofa : tf. V$. T^5. ^«RT.

?TTc5T;-----------------------------------------------------------------------------------------------------------------------

1cRn®rf%^nRT:--------------------------------------------------------------- swi«h: ( )

TfoH»fl

^xn : 6 eft, - ( )

^IT 3TTf*ftTOT.

: ’jar - 25
/ / %5 - 1 cTFFf

1) ^fferT 05FTT. 5

*3f’ TR V W.
1) 5 3 x 5 2 (a) 7

2) 2 7 - 2 3 (b) 2x42

3) (2 x4 )2 (c) 1

4) [(3)Y (d) 2 73

5) 7° (e)
3 + 2

5

(0 22x4

(g)
3x2

5

(h) 321,3

..99..



fosr. 4

(1) x + 5 =...... + 5

(2) x - 5 =...... - 5

(3) jgwmfcm 4x = 20 x.....
(4) ttHllchliftw x _ ......

2 " 2

3) xi*cii<s m = ^ x (1 + W mm <«m

2

4) 4
(1) (a + b ) x ( a + b) =

(a + b)2 =

(2) ( a - b ) ( a - b ) ( a - b ) = ( ) x (a - b)
(a-b)3 =

5 (3T) 31<M4«bl<ol. 4
(1) 4 m2 - 9 n2 (2) 64 a3 + 27 b3

(*r) Pl«K«MI. 2

(2 x - 4 y)3

§l:fH>c6 chi<s«<n-^ *J3I ^ 3^T|5^ftW¥rpnn^1^l^[^[T.

(x + y)2 = x2 + 2xy + y2
■••■■•■■■•••■■■■•■••••a

..100..



nftfdnseiP. (3)

6icn*0 ftqnterem

M^cHchfidi &m: <tjsfferafl y\\m4v

‘^?pft ^ 3R# smm TOflhri t#rt fopman

feHItTO 3T«mT.’

Wto : sft. 3fR. 3m. wfaffe : 3T. t?T. t^5. 31W.

TOT:--------------------------------------------------------------------------------------------------------

%nszrf%^:---------------------------------------------------------------------------shni^: ( )

forFB:
/

qfocN«fl

WT:^,f^-( )
.fs .. . f\ _
wP - Jli«ld

argon 3m qftvi n ^orara on 
^RT - mf JW n1<MI. 31f4W<K M STTfcft ^H5T.

^1 - 25
%5 - 1 cTRT

^ten wm.

3 2
1) 5 x 5

„ 3 + 2
= 5 ( )

7 3
2) 2 - 2 = 2 73 (>
3) (2 x 4 )2 2 2

= 2x4 (•:)
4) [(3)Y „ 2x3

= 3 C)
5) 7° = 1 ( )

\)

(.-)

C)

..101..



2)

3)

(1) Ottafrm

(2) 3F5Pn#1^w

(3) JpricbR Pl'MH

(4) «IHII<4>Kh44

x + 5 = ..20.. + 5

x - 5 = ..20..-5

4x = 20 x ..4.. 
x -..20..
2 2

xi*cii<goi(MA^RT = ^5 x (1

A=px(i^r
4) iiU||cbl<ch<l

(1) ( a + b ) x ( a + b) = a2 + ab + ab + b2
j. K\2 * ■

(2) (a-b)(a - b) (a -b> = (a2- 2ab + b2) x(a- b)
(a- b)3 = a3 - 3a2b + Sab2 + b3

(3T) 3WHM «hl<gl. 4

(D 4 m2 - 9 n2 (2) 64 a3 + 27 b3 = (4a+3b)
= (2m+3n) (2m-3n) (16a2-12ab+9b2 )

w 13RHR5BO. 2

N
$ X i hi II= 8x3 - 48 a2b ■4- 96 ab2 - 64 y3

6 tora 4»rawn3 ^ ^ 1^4 <=h<i. 4

(x + y)2 = x2 + 2xy + y2

'.■.702::



(4)

flrarSt fiaiifloioai qsi.fifccs. (f§remreiR3i) ucj<fkt>ftru 3Ret: 
gcffjncft ^Itnra?i 333113ft g 31331138 g^tirflai aftOn ftggiegi

3Itgjliollcllci ufiuU31dil^gicliU (Jc4oUrdi<D 31*3131

RHttrai : «ft. sir. sir.

STToST : ---------------------------

fasiTWlfa aTS : -----------------

spRTT : <hio41 cj ( 
ftaa: "if^ici

Hlfef* : ST. T*T. T?c5. TO

--------------- araia?

)

srsar:

<jjHI : *T*f JRa ^ftsaT

fi«*ii’q>: / /

Sc5: 60 ft.

^ra«Tl ju. (1)

(1) yidiaii^ ftaa

(1) <3lc^c>) ftaHTcfteS Rq)l*<Jl *ita<£)cl afar StT^ fc5$T.

(2)

1) 23=| |x| |x| |x| |x| |
2) 5" x 53 = 5°
3) 4't4! = 4°

4) 3° = □
5) (23)2 = 2°

aftr vjiI'S^i oiqi.

'sr as

(1) amxan

(2) am -r an
(3) (am)"

'a' as

0)

(ii)

g m x n 

g m + n

.103..
(iii) I

3&T 20

(6)

(7)



(4) (ax b)"1 (iv) a1

(5) (—)m (v) g m + n

' b'

(6) a0 (Vi) amxb'

(7) am (vii) gm-n

(viii) a m 
b m

(ix) _L
a-m

(3)

(1) /15 \2 (2) 52° (3) 64 4- 62
^ 3 '

(7)
(4) 102 -5- 101

W. (2)

(2) fa?*! - f^FcTR

(1) fttIMWftfl R»WI 5TT*ft qfrq fegT.

(1) (z)2 =....................................

(2) (-3)3 =....................................

(3) (a+bf = (a+b) (............... )

(4) (r-s)3 = ( ) (r-s ) ( )

(2) feft*IR4Rr.

(1) (m + n f (2) (x + yf (3) (p + q)3

(4) (a - b )3 (5) (x + 4 f (6) ( m - 3 )3

(4)

(16)

..104..



uraoftas. (3)

(3) igwtfft1 fazFT

(1) <aio5lc> fttiHicflrt Minimi uimFI 3|targ^fc55T.

ur x= 12 m
(1) *#3r£ra*r X + 2 =.................. +.................

(2) ̂ v5TPIT#ftlW X-6 =...................-.................

(3) farrafR#m 3X =...................x.................
(4) MFITCPR #Rf*f X =....................

.4 =................
(2) ^pffaRlil' #5?IL

1) X + 6 = 8 2) X - 9 = 15 3) 4x = 20

4) _X_ = g 5) 5x = 35 6) X . ^
3 4

7) y - 9 = 16 8) x + 39 = 120

(4)

(16)

w. (4)

(4) tei mm

(4)

(16)

(4) P3 - q3 (5) 8X3 - 27f (6) 125a3 + 64b3

(1) <afcflc5 ftnHwfta ftqnmMHfl mm vkh fosi.

(1) P2 - q2 =...................... (2) x3-y3 =.....

(3) m3 + n3 =..................... (4) 16x2-49y2 =

(2) <gic6lo ymra 3Rrarart«f?T.

(1) m4-n4 (2) x2 - 9 (3) x3 + y3

v.105::



^rqufl 35. (5)

(5) XlXoOcqivji ^ qq>q|<SOi|M

(D xsicfto fc5£T. (4)

(D tixoooqivu q)|«u<||^ ^
I =...........................

(2) qd>4ld 4q|viil^ TOT 

A =.....................

(2) xaicHo xil^iqi. (6)

(1) 500*>. ggc5i^.m^A 8toi% 3qqfas*n«rfts<ft ?

(2) 900 5?>. ^eii^ ^.TFTT.3f.?t. 12 qxi*) 4 q«lf*l xixoooqivii q>|<SI.

(3) ^TtegT. (10)

(1) 8000 10 qxi^ 2 <wWt qq>qia «jni^ TOT ^ cqiui q»«i.

(2) 2500 % ^.ttt.^A 7 toi% 3 crefa tumi<* szjm ipist.

qiq«i) J&. (6)

(6) mm

(1) xaic5)c> Rtamcflo Rq»i*qiuii4l Tlta TORfc55T. (4)

(1) x2 + 5x + 6 = (x.............. ) (......................)

(2) a2-13 a + 12 = (a ••) (..................... )

(2) XSHcOo Rm4T«I tfiqqq f«6l. (12)

(D x2 + 22x + 120 (2) a2 - 24a + 144

(3) m2+ 15m + 26 (4) x2 + 30x + 81

(5) m2 - 22m + 72 (6) x2- 11x + 18

(3) tf|q<jq q>|<5l. (4)

(1) a2- 2a + 1 (2) y2 + 2y + 1



(5)
Ulciufl <r><Hi«T> ?,?,3,v ofc£611 3fR uBT®I

gimoft ftanftencai oai.fikc5. (f&en>igin?>i) ucjdktjftcii asm: 
gtasraa jc^imQ a aasroft q^orffai sifta ®«euoai 

awmoucflcj uRuu,H<t>u<t)^di cjrioiic.Ht(> asara

mtons : <ft. 3TR. 3TR.

?TTo5T : -----------------------------------

*TPfe5ff« : 3T. Tj*r. ?snm

focjlWlfa :
3*raT:3ira#g( ) 

faTO: *lf&RT
*iyii vjtixh(^<i»i 4 ^M<4H 4UjMI 

tjjiHi: *4jR4 xitaqi
: / /

: 60 ft.
xINuft a>. (1)

(1) timiq>i^ Pm

(1) 'Hleflc* fttlMIcfU* R<W«II *fNr^l^fo5!>T.

1) 25= 2

(2)

2) 54 x 53 = 5 EUl

3) 46 .§. 43 = 4I6-3,31

4) 3° =Q]
5) (23)2 = 20

6) (3_f=_a®
V4; 40

sfNr 'Jll'SHl c5I4T.

’3T' TC

(1) amxan

(2) am -5- an
(3) (a™)"

'W'TC

= a m+n (i)

= a m_n (ii)

= a mxn (iii)
..107..

JP4TW

gor 20

(6)

(7)



(3)

d)

(4) (a x bf

E.QXE00II (iv)

(5) /_a_\m = a m (v)
v b/ b m

(6) a0 = I (Vi)

(7) am = I (vii)
g-m

(viii)

(ix)

/ 15 \2 (2) 52° (3) 64r6
' 3 '

= (5)2 = 1 ii C
D £

= 25 = 62

= 36

^mufl ay. (2)

(2) tel - f^TR

(1) <£lcflri fttlMKftrt Rq>l*^l \j1mFI 4)^ \3t!^ frtgl.

(D (2)2 =.............. 4.....................

(2) (-3> =.............. -27....................

(3) (a+b)2 = (a+b) (.... a+b......)

(4) (r-s)3 = (r-s )(r-s ) (r-s)

(2) fa^TRdRT.

(1) (m + n)2 (2) (x-y)2 (3)

= m2 +2mn+n2 x2 - 2xy + y2

(4) (a-b)3 (5) (x + 4 )3 (6)

= a3-3a2k>+3ab2-b3 = x3+12x2+48x + 64

(7)
(4) 102 -5- 101

(4)

(16)
p + q )3

p3 +3p2q+3pq2+q3 

m-3)3

= m3- 9m2+27m-27

..108..



(1)

(2)

graofta*. (3)
(3) fiRPT

oicHrt ftuRBftg ftttimi \>»4) 4tm m\ fogr. (4)
ur X = 12 m

X + 2 =........12.......+..... ...2.......
(2) iramitfl Pm X-6 =......... 12........-..... ...6.......
(3)y»mi5R#m 3X =.......... 12.......x....... ...3......
(4) WIWR f^RFT X =....... 12.......

4 =........4.......
'i9loS)ri '#341. (16)
1) X + 6 = 8 2) X - 9 = 15 3)

oC
MIIX

x+6-6 = 8-6 x = 2 x-9+9 = 15+9 x= 24 4x = 20
4 4

4) X = 9 5) 5x = 35 6) X =11
3 4

3 x-^- = 9x3 x=27 — = x=7 4 -*-11x4 X= 44
3 5 5 4

7) y - 9 = 16 8) x + 39 = 120
y - 9 + 9 = 16 +9 Y = 25 x+39 - 39= 120 - 39 X = 81

4Mufl a». (4)

(4) f^Tczr

(1) cfllcftrt f^THTcftc* fo5gT. (4)

(1) P2 - q2 = (p+q) (p-q)- (2) x3 - y3 = (x-y) Lx2+xy+ffi

(3) m3 + n3 = (m+n) (m^mn+n2) (4) 16x2 -49y2 = (4x+7v) (4x-7v)

(2) mcftrt qrcflil mm tegi. (16)

(1) m4 - n4 * (2) x2 - 9 (3)x3 + y3

(m2+n4) (m2-n2) = (x+3) (x-3) = (x2+y) (x-xy+y2)

(4) P3 - q3 (5 8X3 - 27f (6) 125a3 + 64b3

(p-q) (p2+pq+q2) (2x-3y) (4x2+6xy+9y2) (5a+4b) (25a2 -20ab+16b2)



(5)

(5) 3 fB^PPzirer

(1) tiffiflft *£ fc5FT. (4)

(1) wfowiM 35135*31% *j?r 
I = PRN

100
(2) 335314 i3MI% *1*1 3§I4W3I% *gf

A= P(1+_R_)N 
v 100 7

(2) *rte3i. (6)

(1) 500*>. *J5»1%3.*1T.3.%. 83*1% 333f%*3TOfocft ? = 120*5.

(2) 900 *J. gge5l% 3.*H.3.%. 12*5. 3*1% 4 33f% *1*3^3131 35I3I. = 432 *5.

(3) #331. (10)

(1) 8000*5. %*3.*H.3.%. 103*1% 233f#335313331311%*1*! 3SIM35131.

(2) 2500 *>. % 3.*3.3.%. 7 3*1% 3 3«rf% fMIS *313135131.

3M<4) g>. (6)
(6) 31333

(1) Rmnicfirt ft3H*3MHfl 4N vftA fegr. (4)
(1) x2 + 5x + 6 = (X + 3) (X + 2)
(2) a2-13 a+ 12 =(a-12) (a -1)

(2) Weftc* 31333 fc5?T. (12)
(1) x2+ 22x + 120 (2) a2- 24a + 144

= (x+12) (x+10) = (a-12) (a-12)

(3) m2+ 15m + 26 (4) x2 + 30x + 81

= (m+13) (m+2) = (a+27) (a+3)

(5) m2- 22m + 72 (6) x2- 11x + 18
= (m-18) (m-4) = (x-9) (x-2)

31333 35131.

(D a2- 2a + 1 (2) y2 + 2y + 1

= (a -1) (a -1) (y+ 1)(y+1)

..110..

(4)



uftfs>iteo5. (6)
diduQ

flrai^t faaiilldiom uai.fte. (fixenroinoi) u<j<flct>ftcii aan:
LJfH-Hlcfl 9ltcm3£I 3 31331138 qgOfflm 3lJ0ld ft33Ic3I

3I£3moUfflcb llliuUJldJljcJxidl rJrtoUrJi® 3I83EH

TOTOV : «ft. 3TR. 3TR. «F. <jc5. vimra

i<1w*s<ii*i nw . Mnw

S^tii : xjno«fl cj ( )

tjyni : 5T?^T 'hI'Scji

/ /

0C
M

$S5: 60 fa.

^m«fl JH. (1)

(1) sffar mA^ii cjrar. (5)

’3T TC

(D 42 X 43 (a) 6 2x T2

(2) 310 33 (b) 25 1

(3) (6X7 )2 (c) 3 1M

(4) (s2)3 (d) 4 2x3

(5) (25)° (e) 3 10+3

(f) 4 2+3

(9) 62 -r 72

(h) 0

(i) I
(j) 3 2x3

(k) 5 2+3

..111..



(2) (1) 5R X = 40 ?R qqwro frftaHWWB PkWIfHN v3TPft (4)
fc55T.

1) %fturfaipr x +10 = ......
2) fircw .......... -5 = .......-5
3) ^HIVVR 7x = 40 x.....

4) ’MHIWN #RFT X -f 8 =........

(2) #^TT _X_ - 7 (1)
4

(3) *wn»nfawr
(1) 600 wm§ 9 5 ?ref* ®smsr ffccft# mzi. (3)
(1) 4000 wri% n.m*A 10 2 mfo wms airairt (4)

TOT S SflvST 45T3T.

(4) (1) ItaaNtm.
1) (x + y)2

2) (a-b)2

(2) mm wi.
1) m2 - n2

2) 8X3 + 125Y3
3) x2 + 30x + 200
4) y2 - 11x + 24

(1)

(1)

(D
(2)

(2)

(1)

..112..



uftlditeix*. (7)
graoft , aigoit 3?n ttikwi

%m3t GtaitDdtcai mfite. {®mmm&0 TOctoftm 
3mm: gfffiaicft ^asmft^ssA n 3ici<»iwQ n^eirffoi siffici 
fteuteu 3ifceuuoUcflrt nfeuroKPn^m cjcsaiicaro 3i8^ira

wtitm : *ft. 3TN. 3TR. HHfegfo : ST. TJ*T. T?e5.

vjlltjq

5TT35T : ----------------------------------------- :-------------------------------------------------

TqQTOW *TT3 : --------------------------------------------------------- 2PTPP

pfT: srra4tg ( )

fa*Rf: *lf&Rf

^opn 3m xSsm n ^uicjm iftsm 

<jJSHI : S4 5RFT #S4T

foW: / / y»T 20

: 60 fa

irraufta*. (1)

(1) sNruftssiTcjraT. (5)

(1) 42 x 43 S 42+3 ( )

(2) 310 -r 33 = 3 10-3 n
(3) (6X7)2 — 0 2 x 72 ()

(4) (52)3 = 52x3 ()

(5) (25)° = I c >

(;

L)
()

0
(::

(?)

..113..



(2) (1)uRX = 40cR qV3c? <l4)v<uil*ill fifflHlfHW ftvimi utT»ft

Sfal fc5|?r.
1) 4$v>rfts*T
2) qvjrrai#f^ra*T
3) jjuiivn £ra*r

4) HHIIVN PWH

(2) tflSST _X_ - j 

4

x +10 =40+10 

40-5 =10-5 

7x =40x7

X + 8 = ...40....+.... 8....

X = 28

(4)

(D

(3) OTcfte* *TtS3T
(1) 600 W# S.*TT.S.?t. 9 5 Vlfa 22JF3T VIST. (3)

i — PRN _ 600 x 9 x 9 _ n-m •*■
'—Too"----- Too _270*-
A=P-+X =600 + 270 = 870 V.

(1) 4000 W# s.msA 10 2 sbusts 641 Mi^ (4)
^RTS VITWIST.

A = P ( 1 + _R_ )N = 4000 (1 + 10 )2 
v 100' v 100 '

(4) (1) fforNwn.
1) (x + y f = x2 + 2xy + y2 (1)
2) (a-b)2 = a3 + 3a2b + 3ab2- b3 (1)

(2) 3RRJSVISr.
1) m2 - n2 = (m + n) (m - n) (1)

2) 8x3 + 125y3 = (2x + 5y) (4x2 -10xy + 25 y2) (2)
3) x2 + 30x + 200 = (x + 20) (x + 10) (2)
4) y2 - 11x + 24 = (y - 8) (y - 3) (1)

..114..



■ m

qftf&ieea*. (8)

EteuiMom mCte. ugdterfim
3isici: gcftsEft ^tra^jgaiwfl g ^g^roft g^tirffoi 

*>i0ici Rggitgi 3itgmoUrflci uliuu<Hc£>i^c£>ckii 
qcooiic<hc£> 3193131

WltW : <ft.3TR.3IR.5lM HHfegfa : 3?. T?*T. TJc*. RHCT

fttirtf^nnf

1) 53 t 42

2) (a + b)2 = a2 + 2ab + b2%^TM3M%wn.

3) (a + b)3

4) a3 + b3 %3TcraefOTTT.

5)

6) a3 - b3 % «wc<iwi g»f>ic^i ^rT 3WH^i*i «iJn.

7) mm ra cTi^^m^T ?
8) A = P( 1 + -&-)N 3nft4>>mi *\4\w£ QdM snlcTftwn.

100

9) x2 + 9x + 20 ^ara^OTlT.

10) X2 + 18x - 40 3 31444 <*£ ebl<elci ?

...115...



qft&sgs. (9)

f^raioft foenfitoiczn *m. fte. (f§i$PH8in=>i) 

ucjctoftm 3iQm: igflfeiidi site* srasi.

^ipft ^ arawft g*<ftai TfftRr fawsgr anmimiifte

^ftarw^KfriNn ^rerc*re» 3T*qra.

Wta RPfofo

«ft. 31R. 3TR. wt "ST. TJTT. T^5, ^5fTOg

(fcm ftnretaitft)

^fu|=bMMdl-

r^i.

Q *)

*) *)

R) TjfSTeT -fgw# 3T«TFH TORT ^«F=R>lrm 3R2TFR ^JpTT^T efFR W
_ ?_*rs_ r * % / \ ___r> _
iraTOW^RMT^S ( ✓ ) 3«|| ^I^RT.

^)^|ch^ch^u|l=hi.

?.) ^re^itcf^ fferara>£.

3) fomrcwgg 3<n?<<w^.

X) i|clfcfi^ 3^?^.

gN'qgfgijjl (*) srcft^piTOi.

^) W?'T<Wt^cR*£r 

3) WT^HcK 3<l^u|.

3 ) WI <!<\$<*h ^ 3<l3<u|.

...116...



x) (X+5) (x+3) -0*11 fcIWKMI Hcl eblujcl?

(«/ ) 3«fl <^»i «r><j.)

1) (x+5) (x+3) ->x(x+3)+ 5(x+3)+5(x+3)

-> x2+3x+5x+15 -> x2 + 8x+15

2) (x+5) (x+3) -» x2+(5+3)x+5x3 -» x2+8x +15

3) (x+5) (x+3)-> x2+8x +15

\) <s^q4Ml cMMI<Ctal fiicbftdHI (m-n)3 = m3 -3m2n +3mn2-n3 

«Wl %S «FR <st*gctai.

$) yifrcRo) neb*w wflcMuiMii *b> m &wmi

1) x+5 =20 1)

2) y+5= 19 2)

3) 2x = 46 3)

4) -— = 9 4)
3

v») ^rit w<i4H*n aion*H <*»£ a# stim^w <n& ?

c) *#Ri ftTOORfl f^iaiwifxll 4KW ^ =h^l <MH Qdl ?

%) {ereif«|fi>e|| TSrft^l ^3^ <*>*[) «h*H ^Cll ?

^0) P)^in,^,^5«frrar <Uiwinji<{I <*>)uic*4i ?

*********
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qftf§iceo5. (10)

f&maft ftanflcMoai ®n.fifcc5. (f&erosinsi) u<;<fl<t>Iicii 

awr: grifaicft gjlcnrati-^naft a aasroft n^idfei

arfdici faueuoai 3iwiuaticflci uftuii,nct>u<t*fcii 

cJrioUnH® 3IMTH

W!IW : #. 3TR. 3TR ^To5*t HHfcgfo : ^.X^.X^S.wm

gsracT

$m ctaiiiNidl

(1) Jlf&ld ftn-ilixill ♦igTUjyJ ^8JH 3Tl£ 3pfr cJ^JIrtl

19T5^'W ? 3THc?IRT*Pr ?

(2) Amm «wMmtd hk&h ng^f *sih 3it% 3rd ^srst

qicrl 45T ? ^FFT^IRT W ?

(3) q*lfefta faJcfl zk fo«|Wjf4l vJ^II*fl Mi4cfl^ ?

(4) qqffltoftEft c> ftnisqfoT 4wn4) m*4<AA ?

(5) TOcfl# %«^HI 31M«W fjlclt *IT ft»un *T?T S*RT ?

(6) ipERTT 3rre4t qfoit qwwitr ^n41 ftrasgor qfrsr mg# ?

4?r?

(7) S^lrTT 3TRPft <lftldl<ftc» qfofr MldMIVI Mt*kfl^ ftl^miH qfcq reft ?

4fT?

(8) terwiteiT (*upii*ii mkii m*i glwiwi<$l <il&id fo«wi^ stkifh

qfowfrnWT TC#ti qwi^ 4ie^.
(9) irfbldf &\qkw dHI<£ gliWJHkfl <|flld y)U|^U|om ffiJHU||

(10) ^TftRT ftTOI# 3imHH v^ll«ti »^U|MI ftrareft & IWM

ftScft ? cf$IW ^nifiifl qujcflA UfWUMH ^U|l-yi f$UH4Htl St. J4MIU| fifcfft ?



MftftlB sF. (11)

-gm c 3T - ailcW ’MNufl
3T.
a>.

*4*C|I<*
°4N 3RRR

T^TT *tar

asrf^T $* 3ffoq ¥ aiffa 3ifan ♦r\3?KW ♦fs3!RW
1 vX X y' X X a/ \X 13 23 HV*V
2 X" X X X X v"” x 12 22 —v*-
3 X X X X * vX 12 22 -
4 X

~ X X X X" X v' X y' 12 22 — V\T"
5 \/ V X X X X X X X 12 15 —y»—
6 vr X X X X X AX' X v-" 11 20 — W~
7 X X X X * X X 11 20 —Tv*-*
8 \X X X X X X X a/ 11 20 ,^ii~ —»
9 vX X X X X X X v' 10- 19 —Vi—
10 \X X X x>( X X x' X v" 10 15 - —AAr—
11 X X X X X X vX X \X 10 16
12 V"" X X X X X vX X 10 18
13 nX X X X X X vX X NX 10 22
14 X X X X X X- \X X 10 20 —AA/'»
15 vX v'"'" X X X X X vX X vX 9 18 —
16 vX X X X X X v"' X 9 20 —Vv^
17 X X" X X X vX X vX 9 18 \*r—
18 X X X X X X X 9 17 —.

19 V"' X x" X X X sX X 9 19 ■—w~
20 v"' X X X X X X \X 9 21
21 *vx" X X X X X X X X vX’ 8 2?
22 NX1 X X X X X vX X 8 17 —-Vv—■

23 X X X X X X X" X 8 18
24 .X nX X X X X X nX X 7 17 —aa/~-
25 X X X X X X X X 7 17 —
26 X X X X X X X nX X v^* 7 19 —Vv~-«

27 X X X X X X X 7 15 —VA—
28 X X X X X X X vX X 7 19
29 X X X x X X X x" X \X 6 16 — Vv~~
30 X X. X x X X X,, 6 14 sriMic;
31 X X x: X X X X* 6 20
32 X_ X X X X X X X K X 5 12 "''AW**
33 X X X X X X X *r sX A^ 4 18
34 x_ X x_ X X X X <x aX vX 3 14
35 X X X X X X X X 1 12 —in,—
▼ft. 25 #sr 16 32- 13 35 2 "3\ 2 31- 20 31. 31,

15 ' 2- 19 3 22 o 33 A 33 3 15 03 13
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TTftftresF. (12)

^ItTT wfilH -^Nu0
3T.
a>.

wrafaifa^pr rrtMH^nr Pic4
fawn:

Plr*I wft.
3PRR

?tn

3?falT 3TfrPR tf, affair 3? , »r\J, 3STkPT 3*fita affair =HW$
1

____ \Xr vX V“ X X vx 13 20
2 \X V vX X X * v'' 12 21 —V\—
3 vX “v5^ nX sX X X X vx 12 16
4 vl

X V X X y/~ 12 15 ---tr.--
5 \X \X" v' X X x X 12 14 *WiW'
6 v" X

__*_
\X v' X X * X 11 15

7 >X v> \x" X X 11 16 -Ki—
8 X nX X ,x X X X 11 15 •
9 X. vX X X X X X V" 10 13 pm**,
10 \X \x X >r X X X 10 13 —\f,—
11 v' v' X X X X 10 10
12 X" \X v"* X X X v" X 10 7 —ur^
13 X nX >x O X X X 10 15 Vpv^-
14 vX X v' X X K aX 10 13 'V&fti
15 \X \X" X X X aX 9 17
16 X v/ X X X 9 18
17 X X X X X X X IX 9 8 »Vvmw
18 x ax' v"' X v" X X X X 9 13 "■** .
19 v'' X NX^ X X X X 9 18 ^5”
20 \X X X iX~ X V-" 9 13
21 X v' X v< X X X >x 8 19
22 X X X X x. V^~ 8 13 'T'RaV* u
23 nX X v-"- X X AS~ X 8 16 MVKl*
24 X vX vX X X K X X 7 16 *™*Ww'
25 X X X X X X, 7 10 A^Pv-
26 X >x .X X X X X 7 15 ■
27 X X v"* X X V"~ X X X vx 7 14 rlVHAw;
28 X x„ X X X X X A 7 9
29 X X X. X X X A 6 13
30 X vX X X X X X X 6 12 ——-W"-*
31 X X X x, X X, X X 6 8 —w-
32 X X yX" X v' X X vX 5 9
33 X X v' X X K vX 4 11
34 X X vX X \X“ X KS* X vx- 3 11
35 x^ X X >X X X X V— 1 10 ---

21 3^ 23 ■2-<3 9 QJ7 0 2 2.0 20 fA- 14-
IF 14 3 12 € 26 € 35 33 IS 15 *2L ^
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